27628-01 Ak |, washA , WIRG , & , DIN ISO 12240-1 %

45

M

R~ (D)5-12 ZIEI4NEHIFTSE |

B R (D) 16 & iARMBEFE,

K, TEMRILBRI HMANFIEREET,
20 PTFE SYM SR

g
HEE

B
T EEK B AR 4N, EER T DIN 648 ERX R KJo

K
DH7
Q
= 5 N L
\ 1
|
= Y s1
E
.
@ 2
27628-01-05  |GHERS BIEIMN 27 18| 4 | 5| M5x08 | 85 [11]8| 6 | 1141 10| 36 (13| 9 | 57 6
276280106 | GIEEB BB 30 20) 5 6| M6x1,0 | 10 (139675 127 (12| 40 (13 11| 7.2 | 7.65
27628-0108 | GIEEB BB 36 24| 5 | 8| M8x125 | 125 1612 9 | 15875 16 48 (14 14 | 116 | 12.9
27628:01-10 | GRBE SUIEIE 43 28|65 10 M10x1.5 | 15 [19]14] 105 19,05 (20| 57 |13 17 | 145 | 18
27628-01-10125 | BIeBA S UIKIE 43 2865 10| M10x1.25 | 15 |19/14| 105 19.05 |20] 57 |13 17 | 145 | 18
276280112 ARG 5 UEE 50 3216512 Mi2x1.75 | 1752216 12 | 22225 (22| 66 |13 19 | 17 2
27628-01-12125 | GiREE SUTEE 50 32 6,5 12| Mi2xi25 | 17,56 2216 12 | 22,2025 (22| 66 |13 19| 17 24
27628-01-16 | GIEHER MRS | 64 42| 8 [16] Mi6x2,0 | 22 |27 21 15 | 28575 28] 85 |15/ 22| 285 | 39
27628-01-1615 | GHE8S%| MR | 64 42| 8 16| M16x15 | 22 |27|21| 15 | 285575 |28| 85 |15 22| 285 | 39
276280120 | GEREHE& WRE | 77 50 10 20 M20x15 | 27,5 3425 18 | 34.925 (33| 102 |14 30 | 425 | 57
27628-0122 | GIEEB RS | 84 54| 12 [22] M22x15 | 30 [38(28| 20 | 3810 37| 11 15/ 32 | 57 68
276260125 | GRHEG| WRE | 91 60 12 25| M24x2.0 | 335 4231 22 | 42.86 |42 124 |15 36 68 85
27628-01-30 | GIEER E& | 110 70| 15 30| M30x2.0 | 40 |50 37 25 | 508 |51 145 (17| 41| 88 | 114
27628-01-35  |GHESBL VRE | 125 81|17 35| M36x2.0 | 46 |58 43| 28 | 5715 |56| 1655 16| 50 | 106 | 142
276280140 | BREHEE& WRE |142 91 19 40| M42x2.0 | 53 6549 33 | 66.67 60| 187.5 |16 55 | 125 | 171
27628-01-061 MBS UIEIS 27 18 4 5| M5x08 | 85 (11 8| 6 | 1141 (10| 36 13| 9 | 57 6
27628-01061 | ERER SUIEE 30 20 5 6| Méx1,0 | 10 (139675 127 12| 40 |13 11| 7.2 | 7.65
27628-01081 | ERER SUIEIE 36 24| 5 8| Méx1.25 | 125 1612 9 | 15875 (16| 48 |14 14| 116 | 129
27628-01-101  |EAHBR| SN 43 286510 MI0x15 | 15 19|14/ 105| 1905 20| 57 13| 17 | 145 | 18
27628-01-101251 | EReiRe S EIBI%| 43 28]6.5(10] M10x1,25 | 15 |19]14| 105 19,05 [20] 57 |13 17 | 145 | 18
2762801121 LB 5 UEE 50 32 65 /12| Mi2x1.75 | 1752216 12 | 22225 (22 66 |13 19 | 17 2

© norelem www.norelem.com



27628-01 Ak |, washA , WIRG , & , DIN ISO 12240-1 %

45

D2 D3 H H1 SW FiE M FE AR

B BD
kN kN

27628-01-121251 6,5 M12x1,25 | 17,5 22,225
27628-01-161 RSB AR | 64 42| 8 |16| M16x2,0 22 |27|21| 15 | 28,575 (28| 85 |15| 22 | 28,5 39
27628-01-16151 EHERY WHRM | 64 42| 8 [16] M16x1,5 22 |27)21| 15 | 28,675 (28| 85 |15 22 | 28,5 39
27628-01-201 EREIRY| R4 | 77 50| 10 20| M20x1,5 |27,5|34(25| 18 | 34,925 (33| 102 [14| 30 | 425 57
27628-01-221 RIS WHRM | 84 54| 12|22 M22x1,5 30 |38|28| 20 | 38,10 |37 11 |15] 32 57 68
27628-01-251 EREIRS| AR | 91 60] 12 [25] M24x2,0 |33,5(42(31| 22 | 42,86 |42 124 |15| 36 68 85
27628-01-301 FEREIRLY| RN | 110 70| 15|30 M30x2,0 40 |50|37| 25 50,8 |51| 145 |17| 41 88 114
27628-01-351 EHEIRS /M | 125 81| 17 |35 M36x2,0 46 |58|43| 28 | 57,15 |56| 165,5 |16| 50 106 142
27628-01-401 ERRIRY| AR | 142 91] 19 |[40| M42x2,0 53 [65|49| 33 | 66,67 |60| 187,5 |16 55 125 171

© norelem www.norelem.com



